HDL Idioms

Exercise 1: Using the schematic symbols shown below, convert
each of the following System Verilog expressions into a schematic.
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Exercise 2. Using the schematic symbols shown above, convert
each of the following System Verilog expressions into a schematic.
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always_ff@(posedge clk)
y =a;

Clle

always_ff@(posedge clk)
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// logic [31:08] mem [15:08)
always_ff@(posedge clk) =g

mem[p] <= din ; P mem
P A



// logic [31:8] mem [15:0]
dout = mem|[p]

p_next = valid & rdy ? p + 1'b1 : p
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Exercise 3: Write System Verilog that would generate each of the
following schematics. Include any required signal declarations (us-

ing logic). \6%%’ CQ"aj\‘JS}
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